SHES P 96 &I A R A ix b E BB - IUE R A
TGEREY ¢ &l kB~ H d
LEHP () ERE
AL OAEELF AL A0N > S50 > AW BeT L TERE, Livy -
@j\v"%‘%—»vé‘{{é .;—E{ a‘&%{,g—é"ﬂ.&ig‘? g%’gfhlliljalr,;\;ggﬂ ’7r;5"€"‘/n\o
®?$‘%§}:Lﬁ\}' ) i_#;zﬁil,(?'gv\éla °
@i 1k 2 14T -
L B4 O FRFIRIE 12% » #,5% WEFHEL % o S ISRRR s 2

(Dl%/FJ @12%/F ®3%/% @4%/%
NN c
,p%wwéaﬁw PR B O R O L @ it g

?@ﬁ”%ﬁ?{%ﬁﬁ JLI 12 jm ”Smfr@ﬁhmﬂ e DR RS 0 3 EJ%@‘%
%ﬁ?ﬁ 3 ¢F il (”'IEIF' ) FERIY R B 15 Py TR S o ORI RS il
rﬂ}[%ﬁﬁ AURER TS 4 ELfT 2
®19 'y @20 -'J‘ 321 -'J‘ @22f

4.~ TR SR (A 1,000 FLo 0 B F IS TR 6001}‘ T D, 300f T3 P
FEEE 10% - %FlL HlieeaE S [/3{[?3145 2p?
®137ﬁ\ @237 ¢ ®337 ¢ @437 Fi
SALE - 2 fipEiE 10 ]‘FUL 5 FEY FJ ST T e [Eﬁw V?F I 3% UFIJ*]‘JE\— s
bie J T&EV&WFI PRI 1%/% VAP o Gl S R 2o pERIERIEC {2
©96,000 @95,000 7 @94 000 7¢ @93, 000 T
. R oA EL 18 £ 30F A 10%( €5 Fyod » TR 2 1] B4 5 Sainglh & AR S
SRSV LB
©9,475 8,475 ®7,475 ®6,475
7%?#5“ IR EWE V@ ? (F FFFF=12% DFFE- V)
$1100

$900
$700

$500

$300
0 1 2 3 4 5 6 I [
: ‘ ‘ l : Months
l i l 7 8 9 10 11 12

$2000 $2000 $2000
®2,617 22,417 32,217 @2,017
B J P WY 5 S 9
®202 @232 3282 @392

- Eﬁﬂ'ﬁifﬂ |E R B E‘yjﬁif»f{ ’ [@?;E[ﬁ[%j\ﬁlg o VA F[Jjg'g'ﬁp’—u:%\ %_[/%H?i_ﬁllér
s [/F%“?F[’%”it'g 1,000 fy7 > £ U 30# R < 2
*%ﬁ“WW@ﬁH

®4,000 £17 ®5,000 £ 36,000 F @7,000 J
05 ﬁw% 5 500 77 —t%gi'?‘frﬁé@aﬁfi i1 50 Py g T P
ERIS A 110

® PW =152

e @jﬁa;@a OPW=32 Fin [Fjrﬁ%}“é
® PW =-52

ST jr[ ﬁj ?pg'h—é%p"} 30 20%7;/1;[[1@:[3;& [ l %F /[J[—I];Eﬁ Fg?
Jf; [ B Y @PW—-IS m > Y




L= 32T S PR SRR R IR 2 6.2 s RSP s Aok
10% > FI I REPR] SRR FAE A 10 5 e 2

ES E}i Jo%Y FEs [ e
A 9.300 i 1,400 17 15
B 5,500 7 850 {7 10
C 7,100 17 1,000 F1 7 30
@A - B '@B C " @A-C ®A~B-C

12,7 AERRY N YR PR PRI R i SR T 10%’ﬁ%ﬁlﬂ“\7ﬂfﬁ?§}

TE?

A B
Hrevey 4 $3,500 $5,000
I $1,900 $2,500
FL $600 $1,000
PEsEEL 4 6
= A, PW=3$2,398 = B, PW=$2,398 = B, PW=$1,334 = A, PW=$1334

13. I'%%E i 6 F gy % ?JEF%TM&” 1ooof s B)F T 600 w:w't“ 1001}* T
T ] F SRR R 10% K 9t HEE‘%&F”}? *F ﬂ%ﬁi TS IJ[??ﬁrpe‘?
e

o PR 12200 @I LI 1= 9% » T
®7f?5f FEEHBPA 1=25% il fﬁi@ﬁ O L i = 7% IR
14.7% |~ F,”H%Lm £V 6 F i 5 —l’ﬂ:"lj‘u , \—ﬂ}{ﬁj’l |5 F|k 8% 1 (S & gE R %ﬁ& R
TH &L [/Q%Elt Z'p 9
®443fl7L @473 Fi ®503 Fi @533 ﬁﬁ
15,75 i *'LI]EnaJD“I?F A E 2D & jhh e 7
®2,873 ¢ ®2 793j @2 ,372 f @1,934 Hﬁ
16. %F% qgﬁl I/L[srj koD HEL S ]ﬁ ) JLH‘X ];gjk
$25,000
i=15%/ yr End of Year
1 2 3 4 5 6
| | | | |
X
X(1.08)
X(1.08)>
X(1.08)°
Cifi' 1] X(108)
X(1.08)°
®4,974 25,174 35,374 @5,574
17. B4 R 5 GERFIER L 20% 55 (IR T 0 SRS Al 2
®20.00% 221.36% 3®21.55% @22.00%

1857 | - B .0 o5 SLRELE 40,000 7 o FTHATE LG o ] I STRIN 2] 200%)E8
BT I R e 2 h 2
®16,384 @13,107 ®10,486 @7,864



m*mw F@WTﬂiﬂﬁiﬁﬁWT%*W%?
%ﬁwﬁsiVQ#' @& Bl Vel VR
®E¢ [P~ @ (S v VRS
20.% 7| %“%WVW¢WMﬁ$NWMaﬂJ@¢Wb7%f@wii%ﬁ’%ﬁmWEiﬁﬁﬁ
F“E\P‘1096’ PR s V%i?ﬁﬁgﬁntr.

#54 SERAL i o VT B
1 2000 15000
2 3000 11250
3 6000 8500
4 9000 6500
5 12000 4750
@2 = @3 = ®4 = @5 =

ZI%F} L2 B PWCH S %D 2 (195 AR 9%)

Years

0 1 2 3 4 5 6 7

ol l

$100  $100  $100

$100
$200
v $300
$400
®987 @1,087 @1,187 @1,287
22. 7§FH__J ) %F} E AW("""‘%H[;@)E
®396 @296 @196 @96

23 g EVEASHIET TV AR B (B B S e i Az S D
%%PfPﬁhwﬁL%%}_

D6 F @7 &F Q8 =F @9 =F
24w%m$jummoﬂ wadﬁwaﬁw}tzwuqﬁ‘ﬁﬁ yﬁéﬁﬁﬂ@%fﬁﬁ

4JJ f?

D16 @26 ®36 @46

%M%“ﬁ®¢$¢*ﬁVﬁ%ﬁ' §&§“$@33m§ﬂﬁﬁwiw0ﬁ’@§Hﬂ$%
1% > B0 ¢ 2 P8R ?
®11,090 ©12,090 313,090 @®14,090
%ﬁ%@ﬁﬂogﬁﬁﬁﬁ@ﬁ5HW%Wﬁﬁﬁ’ﬁﬁﬂoﬁ,ﬁwﬁﬁﬁt ﬂﬁﬁ%%ﬁ%%@
W o 5[5”%’%??%%?%%% 2P ?

®27,806 226,806 @25 806 @®24,806
27 FRE - F LR F R F‘lﬂ; Srs feiae 12 I/E%El RIEL D ?

@ % @) ® @7\— +
28 Rl v B & ey T R 10f Tu oo FF|[5R T, 10% 6 F I FIRE PR

@771,561 781,561 ®791,561 @®801,561



29,17 I ﬁﬁﬁ%F}JﬁEEWiﬁ R » L

OtV PF’E f [ P ®§r{ VP P
® _x]x IFEJQ{E [,[E[ E’Jﬁ{fgj\ T4t
30. I@% IFJ&EW B E RIS 0y o F A o% HIl 6 T i gtgﬁfj 4 pas 9
®328,717 838,717 848,717 @858,717
SLAF R E 5 2 R RO s
R RAHBY LR R W NAE &
@:ea -fr-’- @{Iﬁ[];@ BRSO [/ﬁfji @ uxfn—n & IFI[;EJ =L ) Vﬁi}i

B P L UL e s uw:gmwA;@zm:aa VASTHPIA T A ]
a §PUst B artra. EETE L U it SN I aIE SN AE s %w A
TP RS 4 R LR
®]g. A ®[E AB O AC @ABC
33FRHCLT) IS B PW) 5 A S 12% » HF G DR

$700
A $500
A $400
$300
$200
$100
$50 T T
0 1 2 3 4 5 6
®2,090 22,290 32,390 @2,490
3 FRESHEAW) -
@786 @686 3386 @486

3SIUEHE YR ASBC oD BRI [P S 53 ][4 PWA=9738 - PWp=10131~ PWc=6738
PWD 5131 - IRRx=17.3% » IRRg=16.3%  IRRc=12.5% + IRRp=11.3% » ¥, Jb | JE2HP 41 10%
AP (%2
@B aC @D
36.F |~ T 5 £ HLIHES 400,000 7 - PTELEF (LG 10 5 [ I SR JF|LJ [T ~ 150%
RS BTHTE | 2000 BTHTE  B- (1 it S A 4 7

(D@l AT R Y ®150%1’mﬁ*ﬂ B 3
®200%;E T Tk @ 24

37 R (] 150% T T 5 R VR
150,860 @160,860 @170,860 @190,860

38-@%? JASB~CZ{dh% BRI PER T IE% xﬂ SRR TS T IS
A5 Y E A 2

@4 35 @6
39.|E§%E A~B-CZ[h% SRS s 1 IR (W 3 BVRE T 3 JIL R
\,rrlq [ 'v\—AﬁA 1 l:] l,:_{.
FI /ﬁK %‘E‘ ?
@8 39 @10

40. E”u“[al;: N V4% A~B~ CiEF Il > 5] PWa=-9738 » PWp=-10131 > PW¢=-8738 [[[j&
A 2B EC @



